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And the narrow part is three - '3 0w %P2 W

Overview

The X713 cites a Xn»72 regarding a beam in the 71"77 which is v" high and it is 7"v7
on the top, however at the bottom it is not 7"v7 but it is three 2’1dv in its narrow part.
The rule is that the top is considered a *"71. There is a dispute between *"w7 and '01n
how to interpret '3 Y2w %P2 W,
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>'"w9 explained that the narrow part has a height of three 2’150 above the ground.

nvoIN asks on °"'wAo:;
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And there is a difficulty with >"w"9; for if the base of the beam is very narrow like
a rod, it is like a %po7w so the breaching of the goats will nullify the nonx 75 —

moon offers his interpretation of '3 12w %P2 w:
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And it is the view of the >''2 that this which the Xn»12 states that ' 9@ a3pa v,

this means that the thickness of the narrow part of the beam was no less than ©'"'x -
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So since the thickness it its narrow section is 1"v3 and on top it is wide 7"v7 we
can apply nonR 7I3; there will not be any 12 2°v12 073 because of it "3 thickness.

Summary
"\ 12w T¥pa WM according to *"wA refers to the height of the narrow part, and according

to Moo it refers to the thickness of the narrow part.

Thinking it over
According to n1901n how high was the narrow part?

Lym '

2 The beam did was not 7"¥7 (even) until it went up 0"3 (or more) from the bottom of the beam. >"w does not specify
what was the thickness of the beam at that point.

3 The onon argue with >"27 and maintain that a 5070 is not a >"717, for since it is traversable on the bottom, for the
o»73 are 12 2°vP12 so we do not say N°nX T, the same should apply here by the Tny.
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